[EH28EERBRS =7 MG =7 « LT 4 ABEFEKRL] 7&
BHE H SRk 284E4 A 13 H

[v=7 - /e xi@EmE] Bl - Bl 785
JIE {7 K 4 i ouT IN GR | HDCP | NET ik
1 [fTH HE|EKR 44 39 83
2 | B & o |EA 42 41 83
3 | HE EE(EY 40 43 83
4 |2 B B E | FHrkl 43 42 85
[v=7 - xv hliEE]
IEREf K 4 & ouT IN GR | HDCP | NET %
1| M B E s = 42 44 86| 15.0| 71.0
2 | K 2 % |2 46 42 88| 15.0| 73.0
3| & A IR 39 47 86| 12.0| 74.0
4 [N R R = |EM 42 44 86| 12.0| 74.0
[Sy Ry =7 7o x@EiEE]
IERE[ K 4 & ouT IN GR | HDCP | NET %
1| & B fn 3 | EREE 40 38 78
2 oo | — |EE 43 40 83
SR IS A NI )55 44 41 85
4 | KT B R|ER 41 44 85
[Ry Fv=7 3y MEEHE]
JEAE K 4 i OuT IN GR | HDCP | NET ik
1 B B = 40 45 85| 12.0 73
2 | & B IE A PIES 41 47 88| 14.0 74
3 | r A R H|EE 45 45 90| 15.0 75
4 [ H B W =N 46 42 88| 12.0 76
(7T Ry=7 « Vo x@im#E]
JIEAZ K 4 i OUT IN GR | HDCP | NET %
1 [\ k= |ExHE 38 42 80
2 | = A F (B 41 43 84
3| o\ BE =Y 46 40 86
[/ Ry=7 « xv b@im#E]
JIEAZ K 4 i OUT IN GR | HDCP | NET %
1| & K i BB |EA 44 44 88| 18.0 70
2 | — 5 |BK 45 43 88| 18.0 70
3 | & B Wk (=% 41 49 90| 18.0 72
(LT 1 A - 7 m Z@iR ]
I K 4 B OuT IN GR | HDCP | NET %
L[ H R [Fr &R 45 44 89
(L7 ¢ ZA - 2y M)
I K 4 B ouT IN GR | HDCP | NET %
1| KRB o [ 46 49 95 16 79




[LF 4 AB -+ 7o @i ]

JEAT K pa B oUT IN GR | HDCP | NET g%
1 [/ &+ |BE 51 55 106

KNERZPRETTE > RINERLO5E

TaADE : ~yF T« 2a7h— RN
F b OEL - FE AL




